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QUESTION 1

How many Tenders can a Payment Event have?

A. one Tender per Payment Event

B. one Tender for each account the payment is applied to

C. one Tender for each form of Payment submitted

D. no Tenders for Payment Events, only Payment Segments
E. no Tenders for Payment Events, only Payments

Correct Answer: C

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18367_V2_01.pdf (103)

QUESTION 2

Critical validation rules verify the integrity of the initial measurement data (IMD). If an implementation needs to add new
critical validations, where would you configure them?

A. as new lifecycle algorithms on the IMD Seeder BO (D1-IMDSeeder)

B. in the pre-processing algorithm of the IMD Seeder BO (DI-IMDSeeder)
C. as options on the IMD Seeder BO (D1-IMDSeeder)

D. in the schema of the IMD Seeder BO (D1-IMDSeeder)

E. in the validation algorithm on the IMD Seeder BO (D1-IMDSeeder)

Correct Answer: B

QUESTION 3

Approval Profiles control which aspects of an Adjustment?

A. whether current and/or payoff balance are affected by the adjustment
B. control how adjustments are approved

C. if an adjustment requires approval before it\\'s frozen

D. information defaulted on an Adjustment

E. whether the adjustment should appear on the customer\\'s next bill

Correct Answer: A
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Reference: https://docs.oracle.com/cd/E73180_01/PDF/4.1.1.1%20CCB.v2.5.Manage%20Adjustment%20and%20Adjus
tment%20Approval.pdf

QUESTION 4

Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.)

A. They control how the payoff balance is affected.

B. They control when a Financial Transaction is to be swept onto a bill.

C. They control how the General Ledger details are created as these must always exist against a Financial Transaction.
D. They control if and how the General Ledger entries are created.

E. They control how the current balance is affected.

Correct Answer: ABD

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf

QUESTION 5

How many devices can be installed at a service point at an instance in time?
A. exactly one device

B. up to three devices

C. one for each service type

D. one for each measuring component

Correct Answer: A

Reference: https://docs.oracle.com/cd/E80256_01/PDF/MDM-SGG_Business_User_Guide_v2_2 0_0.pdf
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